SYSTEM OF CIRCLES
808 BN Srd HBOS B8 HBI) LoRFES0 B HE JNEGrI) 08 08.
1)x2+y2 +2x+4y+1=0 ,
x>+ =2x+6y-3=0
2x* +2y* +6x+8y—-3=0
NS HESe S50
XX+ +2gx+2fy+c=0

S8 H)B50 B 3 SyEmdo vowon wotnod §%08 2g(1)+2/(2)=e+1 .... (i)

2g@+2f(2)) =c—% ... (ii)

21 (-1)+2£(3)=c-3 .... (iii)

(iii) - (ii)

—5g+2f=_73 —10g+4f=-3 ... (iv)
(i) - (i)

—4g+2f =—4

f=2g=-2u.(V)

(1v), (V) ok ok,
f=-T,g=-5/2,c=-34

588 D8 Hn

x> +y?=5x—14y-34=0



2) 4 yP42x+17y+4=0s X2+ +Tx+6y+11=0y x> +3>—x+22y+3=0
SOL. x*+3)*+2x+17y+4=0—>(1)

P4y +Tx+6y+11=0—— (2)

X+ —x+2y+3=0 —— (3)

x? +y2 +2gx+2fy+c=088 éggééao 3 éa@_‘g(‘éa ©OVOM™ €000l 8o

)
(6)
=-g+22f =c+3— (7)
(5)-(6) =>-5g+11f=—T——(8)
6)-(7) =>8g-16f=8=g-2f=1—(9)
(8) + 5x(9)=> f =2
9) =>g-2(2)=1=>g=-3
(5) =2(-3)+17(2)=c+4=>c=—44.

=2g+17f =c+4
=7g+6f =c+l11

33g§5;, DAEBead0 x2+y2—6x—4y—4420

3. x2+y2_4x+2y+4:oéq)®j°§)°) ©020M™ P0G AT, ,d0 DoY) Hoc®
PS> x+y=4 ©d 39 2 080 N0 B)I SWEEe0 §;63‘§Gboc%.

Sol :

85g§5;,o x2+y2+2gx+2ﬁ/+c:0 (1) om0

& $YBR0 X7+ 12 —4x+2y+4=080 ©020 000k
>-4g+2f=c+4 (2)
(1) So5ce DO oG FTEHE S°HS =c=0
2) = —4g+2f =4 3)
(1) 3080 (-g,—f)
$080 x+y=4 2 &08. THI

=>-g—f=4——» (4)
B)+24) =>-6g=12=>g=-2
4) > —(2)-f=4= f=2-4=2



18.

1.

I 1 1

Tt=s ©o08 xX+ 3y’ +2ax+c=0, X’ +y* +2by+c=0 JTD WETITES

bz
S)BowBoérain BrH0&.

SEe Soen G(-a,0) Lo8csn C,(0,-b)
15 $y8 agrgsn al—c=p

25 %8 agrgsn b —c=r

CC =r+r

(C1 C2)2 = (’”1 +r2)2

(a2+b2)=a2—c+b2—c+2\/a2—cx/b2—c
c=\/a2—c.\/b2—c
c=(a*-c|(b* -c
(@ =¢)(o* <)

= —c(a2 +b2)+azb2 +e?

1 1 1
2, 72 272
+b"|=a"b —=—+—
S c(a ) a ST PR

x2+y2+2x+17y+4:O

x>yt FTx+6y+11=0

x4+ )7 —x+22y+3=0

S8 SyEme HDaoESeadn

S =x*+y* +2x+17y+4=0 ... (i)

S, =x*+y  +7x+6y+11=0 .... (ii)
S =x*+y" —x+22y+3=0 ... (iii)
§=0,5=0 o Sororgdo S-5,=0

5x+11y—-7=0



5x-11y+7=0 v (1V)
§=0,85,=0 o Sororgdo S-5,=0
3x-5y+1=0 v (V)
(1v), (V) 8 oW

X Y 1
-5 1 3 -5

X oy 1
-11+35 21-5 -25+33

Sore Bo@sn P(3,2)

PT =P &o& S=0% 5§08 6

= J9+4+6+34+4=:/57
&8 Syzed wowom PoBo J) HEG [0

(x—3)2+(y—2)2 =57
x*—6x+9+ )" —4y+4=57=0

x*+y* —6x—4y—44=0



